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Name; Date:

John Steinbeck

Cryptoquote

_________________________________________________________________

DIRECTIONS: Each distinct letter in the original quote has been
substituted with another letter from the alphabet. (Hint: B = T.)

_________________________________________________________________

NB RJS JIDHJIUS SWWIWF SBXJCLW BQ IW...
BRW BRNCLS HW JFINXW NC IWC, VNCFCWSS
JCF LWCWXQSNBU, QPWCCWSS, RQCWSBU,
YCFWXSBICFNCL JCF TWWDNCL, JXW BRW
MQCMQINBIJICBS QT TINDYXW NC QYX
SUSBWI. JCF BRQSW BXIJNBS HW FWBWSB,
SRIXPCWSS, LXWWF, IJMAYNSNBNGWCWSS,
IWJCCWSS, WLQBNSI JCF SWDT-NCBWXWSB,
JXW BRW BXJINBS QT SYMMWSS. JCF HRNDW
IWC JFINXW BRW AYJIDNBU QT BRW TNXSB

BRWU DQGW BRW PXQFYMW QT BRW SWMQCE.

- MIJCCWXU XQH
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John Steinbeck

Cryptoquote
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